EET (M) SERBHER (FXBEBRERERMAIIaL—2ay)
BHERERF(RFEHE ORAFAE+QFH+OILH)

At Bt Ct#t
222No.A 2> 27No.B 2> 27No.A %2>2No.B 2> 2No.A 4>,4No.B
— Z2H4% H= Hi{f RiESE = E {f RiE$E = E RiE$E = H (R RiE$E = E:Rfii RiE$E = =R RiE$E
() EET
N RFBIFERIFAE 3| T 50,000 150,000 3| T 50,000 150,000 4] T 55,000 220,000 41 T 55,000 220,000 3| T 57,000 171,000 3| T 57,000 171,000
FEER AT &= M RE ST 15| T 50,000 75,000 15| T 50,000 75,000 2| T 55,000 110,000 2| T 55,000 110,000 2| T 57,000 114,000 2| T 57,000 114,000
(SESMIT—SPZ) 45| T 50,000 225,000 45| T 50,000 225,000 5] T 55,000 275,000 5| 55,000 275,000 5| T 57,000 285,000 5] T 57,000 285,000
MESER 11 T 50,000 50,000 11 T 50,000 50,000 11 T 55,000 55,000 11 T 55,000 55,000 11 T 57,000 57,000 11 T 57,000 57,000
INET 500,000 500,000 660,000 660,000 627,000 627,000
FEtT 500,000 500,000 660,000 660,000 627,000 627,000
2% E
() EET
i B f AR 51 18] 25| T 50,000 125,000 25| T 50,000 125,000 3| T 55,000 165,000 3| 55,000 165,000 25| T 57,000 142,500 25| T 57,000 142,500
FEREB DM = M REFTLM 3| T 50,000 150,000 3| T 50,000 150,000 3| T 55,000 165,000 3| T 55,000 165,000 3| T 57,000 171,000 3| T 57,000 171,000
(SESMIT—SPZ)
FMEZ 2T 45| T 50,000 225,000 45| T 50,000 225,000 5] T 55,000 275,000 5] T 55,000 275,000 bh| T 57,000 313,500 hh| T 57,000 313,500
SFHERET 2| T 50,000 100,000 2| T 50,000 100,000 2| T 55,000 110,000 2| T 55,000 110,000 2| T 57,000 114,000 2| T 57,000 114,000
THRE - BEEFEN 1| T 50,000 50,000 11 T 50,000 50,000 11 T 55,000 55,000 11 T 55,000 55,000 11 T 57,000 57,000 11 T 57,000 57,000
SER R E K 11 =& 100,250 1 = 100,250 1 = 100,250 11 £ 100,250 1 = 100,250 1 = 100,250
/INET 750,250 750,250 870,250 870,250 898,250 898,250
FEt 750,250 750,250 870,250 870,250 898,250 898,250
ERE - TR E
(HEET
MEE 0 0 0 0 0 0
MEEGRMZE)) 1336 | kg 262 350,000 1336 | kg 262 350,000 1400 | kg 262 366,300 1400 | kg 262 366,800 1450 | kg 262 379,900 1450 | kg 262 379,900
TIEMTE 11 = 100,000 1 = 100,000 1 = 100,000 1 = 100,000 1 = 100,000 1 = 100,000
B E 200,000 200,000 200,000 200,000 200,000 200,000
FEERE 11 = 225,000 1 = 225,000 1 = 225,000 1 = 225,000 1 = 225,000 1 = 225,000
INET 875,000 875,000 891,800 891,800 904,900 904,900
FEtT 875,000 875,000 891,800 891,800 904,900 904,900
4TEE
(1) EZT
REI=E 1 =& 600,000 1 = 600,000 1 = 750,000 1 = 750,000 1 = 600,000 1 = 600,000
MEmRTEETT) 116 T 25,000 2,900,000 116 T 25,000 2,900,000 120 T 26,000 3,120,000 120 T 26,000 3,120,000 115 T 25,500 2,932,500 115 T 25,500 2,932,500
THEMARTECAET) 0 0 0 0 0 0
MEfARIE(EUT) 0 0 0 0 0 0
MEmETE(RE)
MEMRTE(ERE)
MR TE(ZF01M)
BRETEMEHMNE) 0 0 0 0 0 0
BREIE(ZF0M)
BETEGFE)
BETE(EET) 80 T 25,000 2,000,000 80| T 25,000 2,000,000 83| T 26,000 2,158,000 83| T 26,000 2,158,000 85| T 25,500 2,167,500 85| T 25,500 2,167,500
BETE(ZDMH) 11 = 1 = 1 = 11 £ 1 = 1 =
X AEM KA -1 1R 8| A 93,750 750,000 8| A 93,750 750,000 8|&Rrr| 100,000 800,000 8|&Fr 100,000 800,000 8| A 93,750 750,000 8 | A 93,750 750,000
BEREE(251) 0 0 0 0 0 0
B (50t) 10| & 100,000 1,000,000 101 & 100,000 1,000,000 11 & 100,000 1,100,000 1 & 100,000 1,100,000 121 & 90,000 1,080,000 12| & 90,000 1,080,000
BHE(O=YY)
BHE (Z0M)
FER)— X 250,000 250,000 300,000 300,000 280,000 280,000
SHEE R 250,000 250,000 300,000 300,000 280,000 280,000
BEEYNIET = 500,000 500,000 600,000 600,000 550,000 550,000
FEEILE 1,600,000 1,500,000 1,600,000 1,600,000 1,650,000 1,550,000
B EIRE 250,000 250,000 300,000 300,000 280,000 280,000
T EHE 250,000 250,000 300,000 300,000 280,000 280,000
INET 10,250,000 10,250,000 11,328,000 11,328,000 10,750,000 10,750,000
FEt 10,250,000 10,250,000 11,328,000 11,328,000 10,750,000 10,750,000
b.ZDMIRE
(HEET
HBIRERE 11 =& 625,000 1 = 625,000 1 = 800,000 11 £ 800,000 1 = 700,000 1 = 700,000
REEEE(BRSEEES) 10| T 37,500 375,000 10| T 37,500 375,000 10| — 38,000 380,000 10| — 38,000 380,000 12| T 37,500 450,000 12| T 37,500 450,000
HISEEE(FTOMERE)
RISEEE(ZTOMEE2)
HISEEE(FOMEE?I)
RISEEE(Z0OM)
5 KRB AL
—REERE 1 =& 249,750 1 = 249,750 1 = 255,000 1 = 255,000 1 = 260,000 1 = 260,000
/INE 1,249,750 1,249,750 1,435,000 1,435,000 1,410,000 1,410,000
FE 1,249,750 1,249,750 1,435,000 1,435,000 1,410,000 1,410,000
B3| =
=k 13,625,000 1 13,625,000 15,185,050 15,185,050 14,590,150 14,590,150
27,250,000 30,370,100 29,180,300




THLEA-ER) SERMLESR (BEBEWETREAFLIaL—2a) BHIEOHH
Ert I EBE(RERE QR OTE)

Azt B4t C#t
4=E2 M= == Wil RiE$E H= == Wi RiEeE H= == Wil RiES%
1REHAEE
(2) &L
BRFAE
SHERE
RE% - Bk
SE. R—UVTHRE
BMEEZEER
INEE
thEt 0
2 EHE
(2)FET
FAR R ST 10 |T 56,000 560,000 10 |T 50,000 500,000 12 |T 52,000 624,000
FESREOO-TA T — IR 5| 56,000 280,000 4T 50,000 200,000 8 |T 52,000 416,000
R EHE 10 | 56,000 560,000 10 |T 50,000 500,000 12 |T 52,000 624,000
ERB O B R T 10 |T 56,000 560,000 8 |T 50,000 400,000 10 |T 52,000 520,000
MRSt 15 |T 56,000 840,000 8 |T 50,000 400,000 15 |T 52,000 780,000
AREE-BEEER 10 |T 54,000 8 |T 50,000 12 |T 52,000
ST E/ERA 10 |T 56,000 560,000 8 |T 50,000 400,000 10 |T 52,000 520,000
INET 3,360,000 2,400,000 3,484,000
thEt 3,360,000 2,400,000 3,484,000
3.ER M- kB
(2)FERT
B
SEAM (CUIEESY) 183 [k 65,400 | 11,987,820
WEAEAF (VJ-H) 528 |m3 12,500 6,601,250 1,420 [m3 30,000 | 42,600,000 934 |m3 13,500 | 12,609,000
THINTE
ERE
s E
INEE 18,589,070 42,600,000 12,609,000
it 18,589,070 42,600,000 12,609,000
4TEE
(2) &L
REIT=E
AT SISO —REE 518 174 [m2 7,200 1,252,800 600 |m2 1,600,000 1= 3,464,100
BB ERET 1= 1,700,000
BEK LIRS T 1= 550,000
S E#EEE IR 30 |m 31,800 954,000
RBFEE 4 |8 715,000 2,860,000 45 |H 760,000 3,420,000
D 1= 1,996,050
I AT E(ZEEAN—FTTIER)
ML SEAT(FEL) 183 |kl 56,600 | 10,374,780
TV RHE R BE 1:219,000 B A [(EEEEBEIE-<Ba]
WAHEWRE 1= 689,000 EEEREREISCCREE EEERERISCCRESR
KEREE 2 | A 18,000 36,000
BHAFZET b |& 183,000 915,000
ERIRAET 1= 341,000
ERAET 3 |& 299,000 897,000
-BEERERIE
EHRT 64 |m 1,062,000 | 67,437,000 920 |m 55,000 | 50,600,000 18 B | 3,020,000 | 54,360,000
R 957 |m3 850 813,025
ToUNEREREE 1= 3,936,400 1 |@E 1,450,000 72 |&Fl 45,000 3,240,000
WA EWRE 1= 1,496,300 2 |[E 450,000 900,000 1= 1,650,000
E=RIAET 2 &R 18,000 36,000 5 |&p 230,000 1,150,000
ERABTIERIALIZED) 3 | & 0 1= 2,620,000
HEMI T 145 |m3 17,100 2,479,500 109 |7 30,000 3,270,000 40 |8 | 3,020,000 | 120,800,000
P @R AL T 145 |m3 10,200 1,479,000
BRI 145 |m3 11,300 1,638,500
BWEERELBHEE 1= 4,570,000 158 45,000 67,500
WA BERE 1.0 [= 6,200,000
ZFDith 160,000 1.0 [ 6,519,000
59,000,000
-HERALIEE
BE B (FEACEA) 52 |m3 8,460 439,920
BEe Bk (B EMEST) 1,175 |m3 5,590 6,568,250 2,000 |m3 8,000 | 16,000,000 73 | 298,000 | 21,754,000
BER A5y 1,227 |m3 6,500 7,975,500 2,000 |m3 12,000 | 24,000,000
AR BARIRFIE T
UINTIUREE 50 |m 40,000 2,000,000 60 |m 76,666 4,600,000
LBV TE
YR T 81 |m3 17,100 1,385,100 400 [m3 8,500 3,400,000 94 [m3 18,000 1,692,000
HEETIT7oN—T 396 |4 5,290 2,094,840 398 & 6,500 2,587,000
HEETIT7oH—T 360 [# 1,130 406,800
BT 3 |t 184,000 515,200 17 |t 250,000 4.250,000 2.7 |t 180,000 486,000
BT 71 |m2 14,600 1,036,600 130 [m3 13,000 1,690,000 88 |m2 6,500 572,000
av49)—hL 21 |m3 22,500 472,500 165 [m3 45,000 7,425,000 26 |m3 25,000 650,000
P @R AL T 81 |m3 10,200 826,200 334 |m3 2,500 835,000
HBRET 71 |m3 11,300 802,300 365 |m3 5,500 2,007,500 1,112,000
D 792500
BHE 15 |& 50,000 750,000 12 |& 70,000 840,000
WA — X
SHIE S
BREYNIETE
BERIE
HETE
FEIE
INEE 130,197,515 184,515,000 233,394,650
hEt 130,197,515 184,515,000 233,394,650
5. ZNDhEE
(2) &L
HEREE 7,871,000 11,770,000
HISEEE 25,415,000 18,800,000 5,932,000
—REEE 18,118,000 25,378,000
INET 51,404,000 30,570,000 31,310,000
Bz 51,404,000 30,570,000 31,310,000
E5= -50,585 -85,000 -97.650
&8 203,500,000 260,000,000 280,700,000




THI(EA-EH) 3ERRLERE (FXRBREEXRENAIIaL—23Y)

ST ERF(RFEHEQOLH)

Azt Bt Ctt
204 = =il RiESE = B {f RiE$E #H= =X RiESE
1RETRAEE
(2)FET
IRFAE
SUpEE
5% - E %
SHiE. K-V TREE
REEERM
INET
st 0 0 0
2ERETE
(2)FET
FIRERRET
EEZREOO-TA T T —2EE
fHERETIE
IR B DM B R ETLE
SEMERET
THE - BEHEEFER
SEAR R EERK
INET 0 0 0
et 0 0 0
JERG - TR E
(2)FET
MRE 9t yh 233,000 2,097,000 9[tyh 380,000 3,420,000 9(tyb 300,000 2,700,000
1 $600-32m, 8B+8A+8A+8A
IEmMIE
EiRE
HERE
INET 2,097,000 3,420,000 2,700,000
it 2,097,000 3,420,000 2.700,000
LTEE
(2)RET
REZT= HES 2,331,500 1= 3,029,000 1=
WEIE
> JBL - PR EX 3|& 105,666 317,000 3[& 45,000 135,000 3| 20,000 60,000
Bf 1R 25|m3 96,900 242250 7.4|m3 186,918 1,383,190 6|m3 227,833 1,367,000
e X 3.6|m3 135,500 487,800 7|m3 137,143 960,000 10{m3 21,000 210,000
s E EL R 3| & 65,000 195,000
BEKE 12[m 4,000 48,000 20.5(m 1,000 20,500
BIRITE
>8R - P EX 3[F 43,333 130,000 3|FE 45,000 135,000 3|E& 30,000 90,000
lyapiieEr 2.5|m3 63,960 159,900
e & 3.6/m3 106,000 381,600 7{m3 339,787 2,378,507 10Im3 311,270 3,112,700
P X BT 3| & 60,000 180,000 3|&E 90,000 270,000
HEXKE 12|m 5,500 66,000 20.5(m 33,744 691,750 21Im 4,300 90,300
MITHbIE E 23,085,020 1= 25,110,380 1= 31,505,200
BHI %, PHC#1(300.6m). ¢ 600-32m, 8B+8A+8A+8A
HEREmmRITE
HEHI 248.6|m3 15,000 3,729,000 385|m3 8,000 3,080,000 373|m3 9,600 3,580,800
HHEREL 91.3|m3 8,500 776,050 94.3|m3 12,300 1,159,890 75|m3 10,800 810,000
T2HLTH—(R16) 4804 1,250 600,000 4807 1,900 912,000 4927 1,400 688,800
TIHALTH—(R25) 1804 2,620 471,600 144 (A 6,100 878,400 144|7K 4,000 576,000
7EHILTH—(R32) 56 |4 6,900 386,400 96| 10,800 1,036,800 48|74 10,800 518,400
S5 56680|kg 126 7,141,680 41870(kg 80 3,349,600 54000|kg 50 2,700,000
gl 77.7|m2 6,200 481,740 77.2|m2 7.200 555,840 108|m2 5,800 626,400
avg)—k 246.3|m3 21,800 5,369,340 269.7|m3 17,000 4,584,900 272|m3 18,600 5,059,200
ZDh 8,265,035 6,194,960
BHE(25t572—IL—V) 1= 4,203,790 s 4,420,000 20| & 80,000 1,600,000
BHEGItTTE—IL—) 50|& 48,000 2,400,000
BEHE(ZOM) 11X 320,000
) — R (RE&R /NI R) 2%, 51 B 150,000 |3:&4#=, 5m A 660,000 |2#&, 5/ A 150,000
SHEE S
BEYNIETE
ERIE
HETE
FlET=
INET 50,933,670 62,745,792 61,929,760
it 50,933,670 62,745,792 61,929,760
bZOtiRE
(2) &L
HBREE 1= 3,900,000 1= 3,298,019 5,150,000
RIGEHE HES 6,600,000 HES 6,596,038 6,700,000
—RERE HE:S 900,000 1= 5,276,831 7,647,976
NEE 11,400,000 15,170,888 19,497,976
ok 11,400,000 15,170,888 19,497,976
E5|Z -930,670 -336,680 -1,127,736
=5 63,500,000 81,000,000 83,000,000




